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The number lines below shows the numbers with the interval of 

10,000. Solve the sums with the help of number lines. Make 

‘arrows’ on the number lines to show your working.  

 

1. 80,000 + 10,000 =             

 

 

 

2. 40,000 – 20,000 =                    

 

 

 

3. 30,000 + 30,000 =                    

 

 

 

4. 60,000 – 40,000 =                    
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30,000 40,000 50,000 60,000 70,000 80,000 90,000 

+ 10,000 

10,000 20,000 30,000 40,000 50,000 60,000 70,000 

20,000 30,000 40,000 50,000 60,000 70,000 80,000 

10,000 20,000 30,000 40,000 50,000 60,000 70,000 
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1) 90,000  2) 20,000  3) 60,000  4) 20,000 

 

 

ANSWERS 


